.

.Physics . D l ; L.K.No.15 Paper Code No. 5477 : OJ;’
Paper - | { Objective Type ) ' ) | 8SC-A-2022 i{ Group 1 o Sy GASy» ) 1 3 ¢
. Time Afiowed : 15- minutes  SSC(Part-1) O
Maximum Marks : 12 : _-Session(zozo-zozz”) to (2021 - 2023) 12 A

. . BMPC}( Yy

¥
]

¥

1

: Note  Four poss bie choices &, B. C Ute each quesuon
]

i

AN S

A BT I 500 Tl 1 i SN ;254,»4 UL;'V//Q(Q'I.-J'KG—) D,C,8.A w}‘i’-«éﬂ*é—/—kj"’/ _: ¢-’9‘
fﬂjyjsﬂwlia/llbcw/“g;&fd KL(../ fu;/bnwa.-..f’

ars given Which chioice is correct, filf that circle in front of that question

i me cucles. Cutting or filling two or more circies wnl result in zero mark in that question.

,/;‘)

number.Use marker or pento fi

O L e e Py

|

[
}
3
i

& Which of the followmg is a Vector Qt.mut)

1 Centripetal Force is Directly Proportional to @ < dn &P’“’JJ%’JJ&L}-&-’)’" u‘)}h}’:ﬁd}%—-{ (5)
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| Latent Heai of Fusion is represented by :

Earth's Gravitational Fo;'ce vanishes at

Identify the Base Quantity : . . 4‘.’:(‘)(5" J/wd,v 1/J'r

Distance b (D) lorce s (C) Area Ls (B) Speed koW : (1) |

States of Equi!ibriﬁrﬁ are i d” L}'J‘P l; f’/dlg'
@ 2 @ a ® e W
Inertia depends upon | : &4 S AT Bt (3)
Screi-eratioh ‘;,2/»4"-’-, (D) Velocity d"iﬁ:r ‘(C‘)_ I*’or;c ;Ju’ (B MaSa B 'L (A) .: )
L e A # Jui’ e L @)

rower i (D) Displacement Wo (C) Distance Jﬂb (B) Sveed J;;’ (A)
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In Gases , heat is mamlv tramfcrred by Gou ¥ _-,-_,,_,;;‘_}u‘;; ;‘;,,&; ot f'!
Conduction f( S (B) N’Ialcrular (ollmou i'/‘{ i(ng-ot (A)
‘ Radiaifun 'jlo,u /U) Con \ectmn ‘ W u*(/ ((*')

¢ ]

~ormal Human body temperature is 4“1./ {(;OV’ et tth (7)’
%.6° (D ¥°C (@ F (B 15°%C (A ,
T m»-r W

In S.I. Unit of Pressure is Pascal which is equal to

No? D) Nmo (@ Nl B) Nw? o)

Infinity = 7 &26040 (D) 1000Km  (C) 42300Km (B) 6400Km (4)

bl U 6 K .,A;d’ J ,n{ (10)

He (D) Hy (O Hpy  (B) Hy (&)

-

" The least count of Vernier Callipgr is . ‘ g g.t‘r .ub’..,»’b’ (J-J)J (11)

tem (D 1mm (©Q  0-Glem (B) 0.0lmm  (A)
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An example of Neutral Equzhbrmm is
Block ik () Football JL &I (A)
Book on Table N (D) Pencil at jts tip 4/)‘5':‘}'&% ()
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Note . It is compulsory to attempt (5~ 5) parts each from Q.No.2, Q.No.3 and QN:M and attempt any (02)
questlons from Part II. Write same Quesuons Number and its Part No. as gwen in the question paper.

w {Make Dlagram where necessary. -l bsb( J’HIJJ’/U? (Part ” .J"/’
Differentiate between Base Quantities and Derived Quantities. - - Zfbu/ Lﬁ uulp':it ol QulinSs (l) 2/ ‘J" !
What is meant by Prefixes? | : fg.aty Ve »Kun @)
 Define Atomic Physics and Geo Physics. : : -i/fd/" g S s SHALY (i)

) What is Brownian Motion ? A & A Cte i phgeolbigls (V)
Distinguish .between Scala:;s and Vectors. . ' v -»c"ft)/' P //'r’ s “E v

'y Define Dynamics, S - ‘ -éJ/" Jﬂb (vi)

 State Newton's Third: Law of Motion. e wIUE ¥ o € o Vil

' Write down the relationship between the Force and the Momentum. 46(1%?/" L ("{" o oF (viid)

. yWrite down the principle of Moments. . , ) 7 1/’ ¥ f" M 3/ d”’

) Staie Newton's Law of Gravitation. !;uy U!’V ¥ ftﬁf v ‘").

-Z:':“” St e -:."'.r( ‘f{:& c.ud’ f"’ngScm /lf)\fu'JZOON-@;J (i)

A mechanic tightens the nut of a bicycle using a 15cm long Spanner by exerting a force of
200N, find the Torque. ' :
Define Satellite.Write down the name of Na(ural Satellite of Earth. 4?4 (O] o du’ Lot 2‘: -/ J AU (iv)

- S . S

Define Kinetic Energy. Write down its formula. ‘ <ayf ok fgEard Sady v)
Define Centre of Mass and Centre of Gravity, - ey § G ST A ST i)
;How Solar Panels are formed ? Write down their uses. -é:daivlﬁ'r"ﬁcﬂ Yujikakbﬂ/ﬁjf {vii)
Define Gravitational Field Strength of Earth. -2; ..é!} J = J ﬂﬁdgf J o (viil)
Describe Principle of Floatatien. . : gk dm ¥ L7 ) 4y
{lefeu:mmte between Stress and Tensile Strain. - ) -’4{800’) u.'.’ Q’/‘J»‘:’ ot ‘/.‘} iy .
! , Define Lower and Upper Fixed Points. 2’:91/7 g u’b";gjfg/l s (ii.i)’ i
Why does Heat Flows from Hot Body to Cold Body ? Tty c.bx.))g,(() c.,wf:..()rf W ¥ =2 iv)

, i J&:Lum S A2 50°C £ JEAT )

Convert 50 °C on Celsius Scale into Fahrenheit Temperature Scale.

What is .meant by Convection Current in Air? » a v ‘-'9)[/&[ = ‘_._,/u‘—‘{,f It (Vi)'
What is Transfer of- Heat ? Define Conduction. o P § P card i),
 Why does Land Breeze blow in the night? | : : x;“-__‘:c",u[ Ll ‘f‘;‘ (wiil) - i
: - {
18=2x9{ - s : (Part i) o
1
) LS It i 7§ il wuo S/Ju«

‘Describe Vertical Motion of two bodies attached to the ends of a string that passes over a

Frictionless Pulley.

L ulm w-cm.’w:,.gi)‘[! Lime 2 F .&10 ¥4 KJm-c. 4ms 1, S J‘r-‘t,f (L)
LS) g ) . ~ér:k‘ ol qu

A bicycle ac'celer_ates at 1 ms'2 from an initial velocity of 4ms for 10s, Find the dtstance

moved by it during this interval of time.

" - ~ e 1 ut/ it cr:dyf.;w L e (U 6/Jvf
Determine the Mass of Earth with the help of Newton's Law of Gravntahon {
P -;{rﬂ»’u‘%,fz:w-c.um,,u ¥ 30° AL Sl ex w9 f SON- (..) %
{

Find the perpendncular components of a Force of 50 N making an angle of 30% with x axis.

}(4) Explain Thermal Conductivity and derive its formula, ...{’:,wl U”/WJ' o Z:v’b, J @//J/(J') 7/‘)‘
I

l ¢

' e ¢ éta i
What would be the volume of Ice formed by freezing 1 litre of water'! d Aodl ()
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Note :*Four Wulblo choicos A.B.C.D to esch question ars given Which cholce Is correct  fill that  clrciu in front of that question
7 number. Use marker or pen'to fill thé circles. Cutting or flling two or more circles wifl result in zero mark fn that au“ﬂvn
The '.l,east Count of Digital Vernier (‘allipcr.s is y L8 &b LW 4\//4,‘}‘."(3 s
0-01em (D) () Tem ) 0«1 mm, (B) 0+ 01 mm .(A) f_ v(l)'
| & t‘n Jubl ¥ u)b #’,Lux o d,.u’r‘/(;gfc.u'd).:/# 2
Newton's First Taw of Mo!mn is val:d only in the absence of i
) Momentum (yr‘ (l)) lnrquc. ..f/E (€) Net Foree wmgr(ls) Torce JJ!’ (A)
| - B s J,y W ms” J 72Kmh™ 1| (3)
. ‘Cunvcr.sicm of 72 Kmh-l to ms Y s equal to ememeee ; _ ( }
| 4 30 ms’ 1 (D) 25ms P (() 2() mq \ (B) 1() ms ] (A)- :
Which one of the tGHuwing unit is not a l)crwbd U‘m( ; 4. Jw <oy il wqf LIUJ( GL)' IJ’ (4)
watt Y Newton gl (() Kalugmm (/;5 (B) i’aﬁcal g}‘b (A) | e ;
ll\c number of Perpe nduuhx Components of a Toree i qadn JLU“J J%Id»" & /'(’U %) '
5 u)) 4 " @ 2 W 1 W B
ke Sg25] GAK S r’lﬂ rr/:‘ 2 © |
The Kinetic Energy of a Body of Mazss 2 Kg is 25]. Its speed is : v :; ' ;
50 ms‘l () 25 mq'l (© 12:5ms 1) s ms’ *1 (A) ' ! *
The Orbxtal Spced of a Low Orbit Samlme is: zf,dn J &.fwf 1,( Ut"‘[. .,__,-,T E (7) '
| B0 ms ! (D) B0 msT! (O Bmy” 1(13) 0 . (A : |
l“he“-.l.aluelof 'g' onthe surface of Sun is 1 i . 4..-.:)' J g /(l: L{ Z‘/J-”(ﬁ) !
L s-87me’? 0) 742m?© 3.7me? ) 12me? ) L
c;.gd:ro’r 1,:;1 du J wi J c‘i’ J_Lz_h /’/‘l K dt '(9) :
. What should be the. approximate length of a Glass [‘ubc to construct a Water Barometer
um‘ (D) 2. 5m (C) lm (B) 0 5 m (A)
Thermal Conduchv:ty of Wood in Wm ]K iR u.’: Wm Ik U"‘CJJ/ J d/(f (10) :
0.08 (O) 0.2 (- 0.6 (B 0.8 (A
 Snedfardd LIRE LI 22107 Ledfusdi L:ﬂ!.d«vdu:.:.u/.( an
What will be the value - of P for a Solid for which o¢ has a value of 2 x 10 K'l ‘ _f'
sx 100K (@ sxjo'lsk 1O ex10Kk! ® 2x10 %k [ |
5 .i,xtre is equal to ! | , : ?— t'” 4'4/ 5 (12)
sxwin® © sx10%n’ (@ 5510, W sxwte® @
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Note n o compdaory o attempt (8 - + B) pavin eachi tiom QN 2, QN 3 and Q.Nod mul gum.v y
an glven in the qwslum paper.

thnﬂm\s from Part U, Welte same Quminm Numbar -and la Pact No.
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( i H] ‘Makc Namam whvw neconsary, L hd‘.f’ﬂdﬂﬁvw { Plﬁm '}M ‘Jj’f"
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"“'""-~~»-~--~-m..-..-.........,.-.... e L
; Detine Base Quantities and. Derlved Quanitiites, K ‘ﬂ J S st wasdi () 27w
: What is meant by Scientific Notation ? Give example, ”"”’de’ ' “r’*"f&f o ‘....A“fj)‘""ﬁf‘"’“ )
L What is meant by Zery Brcor andd Zero Corveetiun T e iy wg-‘jvuj Jﬂ) 2 ot ans Q)

.‘ : Convert 20 ms"‘,, into Km‘h' b . : i J.;( Jh Kmh' 1y 20 ms” -4 (iv)
u What is mweant by CGrav itational Acecleration ? *'fkr M»&M‘wdﬂ; v)
\ What s meant by Kest and Motion ! Give evamples, o }f’V‘w"/&{ lf"' s (Vi)

7 \‘X\hat is meant by Dynamies? o fs Jlfo U.&UU (vil)

. | Write any twoy disadvantages of Frictlon, & ' »«-.‘.‘fd "—‘vu‘" 1 e kj/ L\_)J)‘ {viil)

' Differentiate botweon Line of Action of a Force and Moment Arm. uyd)uw L plasy St ST TA - () S/J'r
' LM (,Jd.gi L Y ] nee ":JVJ(‘) '..."( (i)
(""" an Gxample of 2 body which is at Rest bt not In Bqulitbétum, ; :
v A e e k‘».J.l g.f thf; ai/&fa; J:}'war {iil)

What is meant by Moments of Foree ? Msn write iy it Veclor or Scalar Quantity ?

Wiite two uses of Aditicial Sateltites ) g ' 4"‘0-4"""" 24 L JWJ’A’ “V)
Ditfciontiate between Artitical and Natural Satellites, s-dbu)/' VY Wd“’ sl G5 (V)
Detine (.;custatiun.\.rv Orbit. A o ' é-—ﬂ/‘ J Vﬂdf"t&’? (Vi)

u'/‘ \,( oy L ul 46 g_/" lf-/ N 1 al (Vii)

\\ntc down the S.1LUnit of Power .\nd also detum thc unil-of Power.
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: Why do we need Energy? o . § md{u[ s J U:/’UJ {vili)
: Why doces ;-\mmr«phcric Pressure vary with hqighl? . : ?ath;uJy’V[,dA /{J/.Vu-.l ) 4/J;,-
; Petine Strain and Tensile Strain. - . : ; ch..ﬂ/T J J/JW el (i)
\ Define Heat Capacity. ' o -iJ/ J o Y (iii) -
1 What is. Bimetal Strip? ‘ o ' Sc.;l/tf & (5/6(» 3 (iv)

te b ; e udy fJ/“ ’r//d& fetn f f‘r/ v)
what is Vhermometer 7 Why Mcuur\ is preferred as a Thermametric Substance ?

B c_.)nde‘l gﬁ .._CWL/ Fy U My Spn J Jlf u;:f/ (vi)
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An object has weight 18 N in Air. Its wexght is found to be 11+4N when immersed in water

E Define I\ad}atmn . : ' é_a/] J’ CF‘"U’L (vii)

' Write two uses of Conductor. " . ' . 40-«”5"" 2 4:/&( (Viii)

] .

: ;"{{;= 2x9 (Part Il) (oo

b e o o )

i @) =1+ 3 ; : ) -:":Jtlgf’ubl/g!u’l Ml g‘:uhu}r,' ]/,, § oS 'S Jx- (J,) S/J'ﬂ

: State Newton's’ Second Law of Motion and also derive its equation. . :

: Kmh' l.«”du /A"‘L LS ¥ /100-4-—{3/(6:/9"IV£M!£0 *5ms LJM}/./';L//.,(! G .

¥

ve fnl2 i

: A train starts from rvest with an Acceleration of 0 5ms.' , find its speéd in Kmh' , when f

.: it has moved through 100 m. :
’ ]

L) =143 e ot § 3 S SIS 1 i § EASEN 6!

:" dee I:qumbtmm and give its example. Explain first condition of Equilibrium with examples, : .

L Fg soms UG F ene s 0 oog 8l SIS 00N (S GL e S 20 (L) -

) Yo SIS & i S )

} A force of 200 N acts on a body of Mass 20 Kg. The force accelerates the body from rest ' :

} until it attains a velocity of 50 ms . Through what distance the force acts ? J

; 4) Derive formula for Thcrmal Conductivity, - ‘ E -i BI o K d.'. :( o J/ (i 7/v' 1}
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Calculate its Density. . ST WO U, S~ S



